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ECONOMICS

( Honours Core )
Paper : ECO-HC-6026
( Development Economics—II )
Full Marks : 80
Time : 3 hoﬁrs "

The ﬁgures in the margin indicate full marks
~for the questwns ,

Answer either in English or in Assamese '
1. Answer the following questions : 1x10=10
TR PR e Ry
(a) Define sustainable de\:relb;inﬁént:

(b) Define fertility r’a.te. o
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Give one example of non-renewable
resource.

- ST 1 T R |

What is migration?

o e R ?

Méhtidn 6he key challenge of collective
‘decision-making in organizations. '

RoPEES THRE PAg R <6 1y
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Write one cause of gender inequality

in a family.
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What is the primary goal of micro-
finance institutions?

wuRe AR A T R

What is meant by land acquisition?

o wert e &7

' ( Continued )

(3)
i In ‘which year was the Rio Summit
held?
R Afiem @ e 2R ?
() Provide an example of society

experiencing multiple social equilibria.
GFRT WNRE SR STRA @[ 93|
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2. Answer the following questions :- 2x5=10

TER PPN BT

(a) Write two advantages of sharecropping.

CHER - s o1 R fer |

(b) What is gender bias?
et rwenfeg & 2

Mention any ‘two problems' associated
with land.
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(4) (5)

(d) Briefly discuss the difference’ between

(d) What is the role of transparency and
‘accountability in good governance? community governance and corporate
: . governance. .
TIPS Foel SIF TRIROR Sl [ 2
‘ SREMIE P S 9 PR WSS A4 Y
(e} 'What is environmental extemahty? S 4 ’ :
’fﬁﬁ*ﬁmﬁ? : (e) Explain the relatlonshlp between
‘ economic act1v1ty and clunate change
3. Answer anv fou , - AT I A wRE RTGTT TwS 43
y four of the following questions : :
5x4=20 B oSG 9 | |
O PR R @1 SikGR. ey i * ‘ _
_ () Discuss the causes of financial
) ] : . instability in a globalized world.
(@) Discuss how income affects fertility
~decisions. ﬁm@@m@ﬁ@ws{mﬁmmﬁm
e o PrTEe PR S (I R R | SCeont 41 1
SICEATAT 41 | | .
7 4. Answer any four of the following questions :_
(b) Briefly discuss the functioning of labour ‘\ , 10x4=40
market in agrarian society. S PRI R e wiRbR bex fan -
JREQ e W IEH W 2 , ‘ (a) What is a common-pool resource?
oA 41 | Discuss how the ‘tragedy of the
commons explams resource depleuon
. s ‘ - 2+8=10
(¢ Explain the main ‘objectives of land
reform. BT RSN o R 7 ‘fani?s TR
R’ @RI M S =, HICAToA
S ST T SR 0T —
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(6)

. (@)
(b) - Critically = discuss . the demographiC

transition theory of population. 10

TPRYR GRS AR OGO STHICABAT

FRPICY HCAOAT P | ()

{c) Discuss the rmain informational
problems in rural credit markets.
How do they affect borrowers and
lenders? 6+4=10

A Y IGEO O[T T TPIPER R,
BN S92 49 CREHE AF MO
R geolfde IR ?

(d) Explain the inter-linkages between rural
factor markets in developing countries. 10
T SYRfSY Ay oM I@EE WrEw
SIBEIRCT WA F 1 ’

(e) Explain the main contributions of
agriculture in the process of economic
development. 10

AT SmA e RT3 TRPIR
T 0| _

0 Explam the factors that influence
individual behaviour in an organization. 10
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(7)

Explain the functioning of the credit

market in rural economy.

A LS 99 ITIT FR{Faqe) I T |

10

Discuss the key objectives °f

multilateral trade agreements. HoW

=10
they impact global trade? 6+4
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